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(40 43 ) THIEMSHEZN YO +4y0)+3y@) = f(©), (0)=p(0)=0
(a) WIS AR £(O) BB E y(0) » B RHZ AL Transfer function (10 53)
{b) TN () =€ +sin2 » fF y(t) - (20 57)
(c) WR £ =u(@®)—u(t-1) » KEER | WHMEEHHEAR - EH u(t) £ unit step function -
(10 47}
(20 43) BEfrE EMREEREE (x,x,) KBTHIERERAZ (1,5,)

5 3[x | _[»n
S ME
(@) AVE (3,.y,) BEIRER R SORaEEE R 7 (10 43)
(b) FRFE (v, y,) BEFBER B 5 B PRk 2 phy By (] IR BER AR AL, » sAoKE
(o, %, ) PR AT ? (10 57)
(10 43) K TFIRY Inverse Laplace transformation
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(104y) A=i+k B B=i+2j+3k - 55K Ae B (inner product) B Ax B (cross product) o
10 43) %8R A & 3x3 4ERE HE TYIELETRER
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(a) # - iBRETRARES T ARISAER A ? A28 EH (5 57)
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(b) FRRE A 8 | =7 » BERBIFHRKESE  FHAHRAER! (5 7)
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